[bookmark: _GoBack]Number bonds to 20 questions – Either use the space under each question to write the answer or the squared paper in the pack. 

1. If you know 4 + 6 = 10      What will 14 + 6 be and why? 
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Challenge questions
1. 
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Is he correct? 						Is she correct? 


3. There are double the amount of number bonds to 20 than there are number bonds to 10. 
           Prove it – can you work in a systematic approach? 







Answers 
1. 20 because the number you are starting with is 10 more so the answer will be ten more. 
2. 14 + 6 = 20 or 6 + 14 = 20 
3. 
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5. A) True       b) False – The missing number in the first calculation is 3 and the missing number in the second calculation is 13. 
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Challenge questions: 
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3. False there are 11 number bonds to 10 and 21 number bonds to 20. 
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8a. Complete the number sentences
using only 2 numbers.

+ 4 = six
12+ 4 =
I3 + = eight
+ = 18

8b. Complete the number sentences
using only 2 numbers.

+ four = 7
13+ 4 =
7 + = ten
+ = 20
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9a. Robin says, 9b. Nadia says,

I know that one plus
nine ones equals ten,
so eleven ones plus
nineteen must equal
two tens.

1 know that two plus
seven ones equals
nine, so two ones plus
sixteen ones must
equal nineteen ones.
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8a. The numbers should be matched as 8b. The numbers should be matched as
shown below: shown below:

|




image9.png
90.5+3=8;15+3=180r13+5=18
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50.7+13=20;7+3=10;4+5=9,4+15 5b.6+12=18;13+2=152+3=5;2+§
=19 =
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8a.2+4 12 +
+16=180r16+2=

16; 6 + 2 = eight; 2

8
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9a. No, Robin is incorrect because eleven
ones and nineteen equals thirty. Eleven
ones plus nine ones equal twenty or one

ten and nine ones plus one equals twenty.

Accept correct partitioning and number
bonds of 20

9b. No Nadia, is incorrect because iwo
ones plus sixteen equals eighteen. Two
ones plus seventeen equals nineteen or
one ten and two ones plus seven ones
equals nineteen. Accept correct
partitioning and number bonds of 19
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éa. Using the number bond below, fill in
the missing numbers.

0000 + 46 = 10

= 0000000000
0000000000
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8a. Match the numbers bonds that make
14.

8b. Match the numbers bonds that make
18.
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9a. Complete the sentences to show the 9b. Complete the sentences to show the
number bonds. number bonds.

5|+ =|8 +|6|=|8

Now use what you know to complete the | Now use what you know to complete the
number sentence. number sentence.

+ =18 + =(18
w «| 7Y
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11a. True or false? The same number is 11b. True or false? The same number is
missing in both number sentences. missing in both number sentences.
six + ? = 9 ? + 5§ = 8
16 + 72 = 19 5 + 7 = 18
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5a. Use the digit cards to complete the 5b. Use the digit cards to complete the
number sentences. number sentences.
HEDEE | HODEE
7 + = 20 6 + = 18
+ 3 = 10 + 2 = 15
4 + = 9 + 3 = 5
ﬁ + 15 = 19 . ﬁ 2 + = 8





